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n
(mm) (8) (m/s) (%)
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2010 2010 2010 2010 2010 2010 2010
30 30 30 30 30 21 30
1 94.2 6.6 10.9 2.6 3.4 58
2 104.3 6.7 11 2.8 3.4 61
3 185.6 9.5 13.4 5.5 3.6 67
4 160 14 17.5 10.1 3.5 73
5 163.9 17.6 20.8 14.5 3.2 79
6 221.9 20.4 23.3 17.9 2.8 84
7 163.5 23.5 26.4 21.3 2.7 86
8 131.2 25.6 28.8 23.3 2.8 84
9 245.3 23.1 26.3 20.5 3.1 82
10 269.9 18.3 21.9 15.2 3.1 76
11 152.5 13.8 17.8 10.2 3.3 70
12 77.5 9.2 13.4 5.3 3.4 62
1,969.7 15.7 19.3 12.4 3.2 74
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https://www.data.jma.go.jp/obd/stats/etrn/view/nml_sfc_d.php?prec_no=45&block_no=47674&year=&month=12&day=&view=p1
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